KEHEEREG (BiRBER)

XEBORIKEZANTHEMERNHFTYT

FEAREHE (Biik) HE ke (Bitk)
[14%&(mm) 13 20/25 40 50 75 @2y
fERAKE [ ~5 [ ~10 ~10 ~10 ~10 ~10 |7k&E [11~20[{21~40[41~100[ 101~
SUE R 1,000] 1,100 1,100 2,400 4,200 6,800| BE R 90[ 110 130 150
BT 1,000] 1,100 1,100 2,400 4,200 6,800[HifT 90 110 130 150
SUES®%) 10.00%]  0.00% 0.00% 0.00% 0.00% 0.00%| % E=H  0.00% 0.00%] 0.00% 0.00%
(H£E20mmbh EDYA | SR LU R 2310h LU F ERIU 44, )
(HARA0mmOBEIL, ZOZEITMZ . 1,300 M (Bith) 277 AL T, BlAFHE, )
(RAE50mmOBE I, " 3,100 M (Bith) 277 AL T, BliAFHH, )
M OF13mmD K &5 E (RAE75mmOBE I, " 5,700 M (Bith) 277 AL T, BliAFHH, )
(@1~ A 15 mifE AL 54 (11~20m DfEH) |
1,100 § + 5m X 90 = 1,550 M (Bitk)
( 1,550 F§ X 1.08 = A 1 (BiiA. 1MISREIRE) )
(@1, A 26 mifE LA (21~40m D) |
1,100 § + 10 m X 90 [ + 5 m X 110 [ = 2,550 1 (Bith)
( 2,550 X 1.08 = Bl (BA. 1MRREDR) )
(@1~ A 70 miEALSE (41~100m DOFipH) |
1,100 H + 10 M X 90 1§ + 20 m X 110 H§ + 30 m X 130 = 8,100 M (Fitk)
( 8,100 ] X 1.08 = SR 1 (BUA. 1R EEE) )
(@14 A 183 mifF AL 5& (101 mi ~ D) |
1,100 § + 10 m X 90 [+ 20 m X 110 § + 60 m X 130 4
+ 83 m X 150 = 24,450 M (Bith)

( 24,450 f§ X 1.08 =

EEMORN 11 (BiA. 1M )



